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3.20144 Ol &t &5 & H

O &HAI Bt E AL S 517 (9l &)

Ao X oo * 2 e
=2 HI(A) 4,529,584 =& 2(8B) 11,029,001 =& 2(C) 18,568,000
=9 4,157,723 =2 4,157,723
YA 371,860 e+ 371,860
E€0/4 1 E80/Y 1
ZHAHLH= 2,999,415
=ZJl0l=3 10,000
A2z 11,029,000 X203+ 11,029,000
JIEtA ==Y 11 JIetEE=g 1
XZEAH(A") 4,290,218 X&EH(B') 14,277,782 XEAH(C) 18,568,000
gAH=E 1,284,499 FAHE 1,284,499
SEg&s 33,000 SEg&a 33,000
HEILHHS 416,019 HEIHH S 416,019
HIDP%’%EHIXP&% 10,263,202 HIDP%’%EHIXPQ@I 10,263,222
ollgItl 2,972,719 ollglbl 3,598,541 ollglbl 6,571,260
Xl (A-A") 239, 366 xtel(8-8") A3,248,781 xer(c-c') 0
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NEZQ 4,147,723

sl 1,284,499
JIEtE d =2 10,000
AHQ 42! Al 371,860
Ol Xk==<] 300,000
Bt H&E =+ 71,856
FEAHE0IL 1
JlEtg el 3

SZ0l4 Al 1 SgE&4 Al 33,000
MdI1EA+HOIY 1

HdI|Ed+=FEL 33,000

(| NslNs] Al 2,972,719

(:{Xs]}is]] 2,972,719

=i Al 4,529,584 gt Hl 4,290,218

Xt o4 (A-B) = 239,366
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600 AtH =2l 4,529,584 4,436,605 92,979
610 Y+ 4,157,723 4,064,744 92,979
611 AIEE24Y 4,147,723 4,054,744 92,979
001 JId=2 1,769,040 1,730, 160 38,880
O NES
16,200 X9, 100X X12JH & 1,769,040
003 bt= 2,025,840 1,981,800 44,040
O NES
36,700 X4,600& X120 & 2,025,840
004 = 307,800 299,700 8,100
O NES
675,000&X38& X120 & 307,800
005 AMEYBAHZ 45,043 43,084 1,959
O MNES
163,200 X23& X 1201 & 45,043
661 JIEFE & 4=2! 10,000 10,000 0
009 JIEIE & 4=2! 10,000 10,000 0
O 2304k B8 28((7Ma)
10,000,000& 10,000
670 A+ 371,860 371,860 0
671 Ol Kkz=< 300,000 300,000 0
001 Ol 20| Kkz=! 300,000 300,000 0
O 20Xtz
300,000,000 300,000
672 EtS HE L2 42] 71,856 71,856 0
001 LBt HEAUZ 71,856 71,856 0
O J=MaEEd 34 o2 2dH
48,024,000& 48,024
O 2IIIEESUAX o2
18,792,000 18,792
O Hetgda =244
5,040,000 5,040
674 FE XK Z01Y 1 1 0
001 FE MK Z01Y 1 1 0
O DENMKHZ01
1,000& 1
679 JIEIS S+ 3 3 0
003 E23M2+< 1 1 0
O SE2HZ 4+
1,000 1
004 Bia 22 P(ot3 40! 1 1 0
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21700 AtHlE
g 710 ggdlE
28 NE- S Ol & o o3 olao HRE
700 AtHHIE 4,290,218 4,000,993 289,225
710 SHHIE 1,284,499 1,235,571 48,928
714 2 1H| 1,284,499 1,285,571 48,928
100 o1& 2l 969,868 911,372 58,496
101 Q124 H| 899, 108 844,632 54,476
101-1 2= 816,234 775,119 41,115
O Jle=s (509, 142)
o YEHH (310,172)
52 3,976,100 X1E X122 47,714
= 3,379,300 X3 X122 121,655
= 2,435,600 X4H X122 116,909
8= 1,991, 100& X1E X122 23,894
oJlsA (198,970)
= 3,007,200 X4 X12& 144,346
= 2,527,700 X1E X122 30,333
- 95 2,024,200 X1E X122 24,291
O 32+
509, 142,000 X1/ 12X50%X22] 42,429
O IIE=Y (18,000)
o HH< X 40,0003 X158 X12& 7,200
o SAIE 20,000&X15EX3E X122 10,800
[ORPNIER= - E=y (5,207)
o 1SSt 309,900X14EX0.3x42] 5,207
O 2= (16,440)
o 259 0l&t 130,000 X4EX12& 6,240
o 204 ~ 254 0OI8t 110,000R& X3 X12& 3,960
o 154 ~ 20 0|8t 80,000 X2 X128 1,920
o 10& ~ 154 0O|¢t 60,000& X6 X128 4,320
O e+ (7,358)
o 65 3,379,300&X0.041X3E X122 4,988
o 7= 2,408,500 X0.041x2& X128 2,370
O =<
120,000& X152 X122 21,600
O AleIZ2EE (95,977)
o 55 11,364 3AX1EX60AI2tX12E 8,183
o 65 9,692 X3EX60AI 2HX 122 20,935
o 7= 8,754 A X4EX60AI 2HX12& 25,212
o 8= 7,860X1EX60AI2EX12& 5,660
o Jls7= 8,754~ X4HX60AI 2HX 122 25,212
o Jls8= 7,860 X1EXB0AI2HX12& 5,660
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101-3 RIHAZZ A E = 82,874 69,513 13,361
O ot=k Z&F& (26,884)
oJlE2g etz 1,057,630&X1E X128 12,692
o JZ=g 12,692,000 X4/ 12 4,231
o Al2te2f=d 5,9213X1 . 5X1EX44AI2HX128 4,690
o HJtE A 5,9212IX8AI2EX1EX15Y 71
o =&l 50,000&X18Xx12& 600
o wW&Hl 50,000&X18Xx12& 600
o HESIHI(EY, F=4) 400,000& X1 X223 800
o JIExE (960)
HH < Xt 40,000 X1&8X 128 480
LIS 20,000 x1@X2EX12& 480
o NHSHIEZSY (1,600)
lsstu 400,000& X1 X435 1,600
O &8 (55,990)
o JlEg Az 1,167,580 X2 X12& 28,022
o JZ=g 28,022,000 X4/12 9,341
o ANZ2tA2fE 6,352X1. 5 X2E X44 Al 2HX12& 10,062
o HItE A 6,352 X8AI2EX2EHX15Y 1,525
o =&l 50,000&X2EXx12& 1,200
o w&EH| 50,000 X2 X128 1,200
o FEFIHI 400,000& X2 X223 1,600
o JIExE (1,440)
i < Xt 40,0004 x28X128 960
AN 20,000 X228 X1EX12& 480
o NESHIEXZSY (1,600)
nsstu 400,000& X1 X423l 1,600
106 MRS H| 50,760
106-2 Mz 2| 25,800
O «Ery (16,560)
o 5= 250,000&X18X12& 3,000
o 6= 155,000 X3EX12& 5,580
o 7= 140,000 X4EX12& 6,720
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g 710 ggdlE
2% 10 S24eau (SH:a=
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o 8= 105,000 X1EX12& 1,260
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o 78 140,000 X4EX12& 6,720
o 8= 105,000 X1EX12& 1,260
o 9= 105,000 X1EX12& 1,260
106-3 SEE R+ 3 H| 24,960 23,040 1,920
O St ALA
80,000& X158 X12& 14,400
O F& U S2YUDTAR
80,000&X8EXx12& 7,680
O JYWIHAR S| oBaye
80,000&X3EXx12& 2,880
107 €122 20,000 20,000 0
O SIIHHE =D
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O JIEMNRESHI
550,550X12& 6,607
O B4 s SHPLY
300,000&X3& 900
OMEFESR (4,500)
o XA 15,000 & X253 X121 & 4,500
O Z4N S 2E2DH A4
6,000,000& 6,000
O ot=EEZ3 A L2 A
15,000,000& X123l 15,000
O ot=& DAMBEET XA
10,000,000& 10,000
O SAMI 228 2U(EH 8)
400,000 & X432 X4CH 6,400
O NESINHHEAHRE M22x2 AHRAH
2,000,000& 2,000
O ZBI4C UAASLLVDEIIIIASS HHAASS
200, 000& X252! 5,000
O SILXNE(ELE ¢ St=ERNE=)
400,000 X202] 8,000
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700 AQIHIR
& 710 2
Mg 714 250g)
=201 YuEgyl CER-E
- _ g
2.8 MG -2 off &b o o olao HDE2
0 504 8502 X5104 434
o 100¢ 1,700 X100 170
O FYEIL DABET 442
3,000, 0002 3,000
2012 2229 46,740 46,740 0
O tauxe TSI
100, 0002 X3CH 300
O Ba4Mxte 2EE
1,500,000 X3CH 4,500
O dteadity BFMWLRLS
90,0002 X3CH 270
O BtealRg AALE2
90,0002 X3CH 270
O Bt+2M%E S 2 SBU) (34,200)
0 A U ZHIT 3,000, 0002 X2CH 6,000
o Fax 9,000,000 X 1CH 9,000
o T2IETI 9 400, 0002 X4CHX123] 19,200
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O RE7PY
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100, 00024X 12X 122 1,200
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21700 AtHlE
g 710 ggdlE
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O ot=&2 s JIEAM 7
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212-9 J|Ef=cl= 4| 22,128 20,840 1,288
O =gt (19,320)
o HEFAUEZA 1A 7,000&X15HX153(X12& 18,900
o H@ f125 =4l 7,000 X152 X43] 420
O 1=l (1,800)
o ot=% HAZH LI=H| 300,000& X1E X232l 600
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AAHEZOH 664,600 X12& 7,976
DEXAEZ O 318,090&X12& 3,818
QIS SHAIAE 77,000 X20HX 123 1,848
00 Z&0IA 65,000 65,250 2250
305 &= S 5,000 3,000 2,000
O Faz=z&EL0 OHE & o= g
5,000,000& 5,000
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3-2. A20a (KHEE =2 XE)

OFAFAIBHET AIE S Y S| A (&9 38

= 2 9 £ (A H & <2 £ (B)

HE IS O] & oM HE IS Ol & o
VR =P y] 11,029,000 SEXFS y] 416,019
NEEI==PN 1,000,000 Ex 30,000
HElEgEEST 5,029,000 axg 358,619
DARTZAY 5,000,000 20|72 27,400
B K2R 2 ¢l y] |oots g ez s y] 10,263,222
plISOE-PN 1 AL TR A 10,263,222
ol1t1 bl 2 3,598,541
ol1t1 bl 3,598,541
S 11,029,001 8 14,277,782
X o4 (A-B) = A3,248,781
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2 0100 KEEf
a1 170 232
Mgt 171 AEZE25
= 001 ANEEEz+Y (S| &2
2.8 HE- e off b o %f;;;ﬁi% SmE=ST
100 At2& el 11,029,001 14,386,001 A3,357,000
170 Xri2d =2+ 11,029,000 14,386,000 3,357,000
171 AIEEE =222 1,000,000 1,000,000 0
001 AlIEEEY 228 1,000,000 1,000,000 0
O ANEEY2 ¢
1,000,000,000& 1,000,000
173 EIS|HAHEE X242 5,029,000 11,531,000 26,502,000
001 22X 24¢ 4,126,000 10,533,000 6,407,000
O OtAMAIE Al S33k=HelAlE S At
2,108,000,000& 2,108,000
O OFAFAIS Al THOIZAIS
2,018,000,000& 2,018,000
003 AIEHIEX=24¢ 903,000 998,000 95,000
O OFAFAIE Al Z2Z20ta=HelAE 2 AH(EHI)
903,000,000 903,000
1756 SARE =242 5,000,000 1,855,000 3,145,000
009 DIEISAREE 24 5,000,000 1,855,000 3,145,000
O JIEtSAt 2E2
5,000,000,000& 5,000,000
190 JIEtRIE2 X 4=2! 1 1 0
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2 0200 MEXEXE
S 1230 REXAFS
M&: 231 €X
= 405 KHAHFSHIS (2. &
T R off & o %f;;;ﬁi% HRE2
200 NMHEAXE 14,277,782 19,831,613 A5,553,831
= 4,126,000
T 903,000
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230 FEAFHS 416,019 2,825,459 A2,409,440
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405 XHAHFSHIS 30,000 30,000 0
405-1 XH&HFE S H 30,000 30,000 0
O otx==3A DI2EX 24a=2 (30,000)
o o= EX 02X Ba=2 30,000,000 X 14! 30,000
234 2 358,619 2,760,059 A2,401,440
401 AEHIZL20HYI 358,619 2,760,059 A2,401,440
401-1 Al&HI 351,000 2,751,000 A2,400,000
O HMelRGU ot=ZAIE Uiaxd A
300,000 X100mX 1090 2 300,000
O otx=xelR<YU ot =4
170,000& X150 m* X23] 51,000
401-3 Al 201H| 7,619 9,059 A1,440
O otEXelRYhU ot AlE & Z2AF 20|
300,000,000 X0.72/100 2,160
O Mel?<EW ot S8 A 20t
51,000,000 X0.9/100 459
O s&ss3
500,000& X102 5,000
237 Z2J|7HI3 27,400 35,400 A8,000
405 XHAHFSHIS 27,400 35,400 A8,000
405-1 XH&HFE S HI 27,400 35,400 A8,000
O AMRE Xt
300, 000& X34 900
O MEE2Z234HIR
500, 000& X34 1,500
O ot=% X2l t=eE & (1ton)
25,000,000 X 14! 25,000
260 BIJtsS&BIXHAHES 10,263,222 13,386,000 A3,122,778
= 4,126,000
= 903,000
Al 5,234,222
261 HESQIXHA 10,263,222 13,386,000 A3,122,778
= 4,126,000
= 903,000
Al 5,234,222
401 AIEHIZL20HYI 10,263,222 13,386,000 A3,122,778
= 4,126,000
o 903. 000
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& 1260 HIJtSHEHIXHAFHS
Nig: 261 A& SOIRHA
= 401 AEHI R0 (el &
_ _ PR
. St St . H e =2}
2 -8 NE .= oA S = Ol Ak o =[pmiESEel
5,234,222
401-1 Al& bl 10,263,222 13,386,000 N3,122,778
= 4,126,000
< 903, 000
Al 5,234,222
O OFAHAIE Al S3ot=HMelAIZ S At
8,011,000,000& 8,011,000
= 2,108,000
< 903,000
Al 5,000,000
O OFAFMSE Al THOIE ALY
2,252,222,000& 2,252,222
= 2,018,000
Al 234,222
800 oilbld| 3,598,541 3,620, 154 221,613
801 olibld| 3,598, 541 3,620, 154 221,613
801 GiiHIHI 3,598,541 3,620, 154 A21,613
O oligldl
3,598,541,000& 3,598, 541




2014

M
H
it
=2
rx

) ) ) 4. X = 2 & A =
SHY : OLAAIGHE S A SEE)
2 N oESEE
0.+ g X3 (S5l : &R
2 e 04l &9 (A) I olasd (B) = 2(A-8)
= g8 X = (A) 18,568,000 23,832,606 25,264,606
Y=+ A 4,157,723 4,064,744 92,979
MNEZY 4,147,723 4,054,744 92,979
JIEtSE & =2 10,000 10,000 0
FHe+A A 371,860 371,860 0
Ol Kp==< 300,000 300,000 0
Etgl A Y S+ 71,856 71,856 0
SEAMHE0I 1 1 0
JIEtE E 2= 3 3 0
SEIE A 1 1 0
HIEA=F0l 1 1 0
dEE Ol=32 A 10,000 10,000 0
=&t 03 10,000 10,000 0
A2z A 11,029,000 14,386,000 A 3,357,000
NEEEa+E 1,000,000 1,000,000 0
Bl HIAEE T =Y 5,029,000 11,531,000 26,502,000
SARE=+=E 5,000,000 1,855,000 3,145,000
JIEIXH 2R 42l A 1 1 0
JIEt2H =Y 1 1 0
=HAHALHS A 2,999,415 5,000,000 22,000,585
=AAHL NS 2,999,415 5,000,000 22,000,585




2014

M
H
it
2
rx

SIAHY  OtatAISH=E AIE S E S A
£ M ot=EEE3A
OXN g X =2 (&2 @ &)
2 = Ol &FOH (A) JIE CGllAtHA (B) E Z(A-B)

I & X 2(8) 18,568,000 23,832,606 15,264,606
HolH 2 H 1,284,499 1,235,571 48,928
24914 1,284,499 1,235,571 48,928
Sgaa 3 33,000 33,000 0
rSBIESCIESSES 33,000 33,000 0
SEXAHS b 416,019 2,825,459 £2,409,440
EX 30,000 30,000 0
=S 358,619 2,760,059 A2,401,440
ZIIRHIE 27,400 35,400 /8,000
HIJIS&HI KA = b 10,263,222 13,386,000 £3,122,778
HEZOIX At 10,263,222 13,386,000 £3,122,778
of Hl I 3 6,571,260 6,352,576 218,684
ofl Hl I 6,571,260 6,352,576 218,684
t % (A - B) 0 0 0




